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1. For each relation, determine the domain and range
and whether the relation is a function. Explain your

reasoning.

a) {(=3,0), (=1,1), (0, 1), (45). (0. 6)}
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2. What rule can you use to determine, from the graph
of a relation, whether the relation is a function? Graph
each relation and determine which are functions.

9 {(-2.1), (1.1, (0,0),
(L-1), (1, =2), (2. -2)}
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3. Sketch the graph of a function whose domain is the
set of real numbers and whose range is the set of real

numbers less than or equal to 3. A
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4. If f(x) = ¥t + 3x — Sand g(x) = 2x — 3,
determine each. ]
a) f(—1) d f(2b) . _)
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5. a) Graph the function f{x) = —2(x — 3)* + 4, c) Use the equation to determine each of the

and state its domain and range. following.
b) What does f(1) represent on the graph? i f(3) — f(2) i) f(1 — x)
Indicate, on the graph, how you would find i) 2f(5) + 7
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6. If f(x) = x? — 4x + 3, determine the input(s) for x

whose output is f{x) = 8.
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7. A ball is thrown upward from the roof of a building
60 m tall. The ball reaches a height of 80 m above
the ground after 2 s and hits the ground 6 s after
being thrown.

a) Sketch a graph that shows the height of the ball

as a function of time.
b) State the domain and range of the function.

¢) Determine an equation for the function.

o oot
(bR = %)
(1/@ :(O/ )

54/\,)6 (;\\\ QT,O)\ S@‘VQ
(&N

o

_szﬁr@@©éfgg
g {gehfo=0=5E

—2©:ﬁ>
%L

= :9 :~§_(1“1>1+8®

(2, 80)

(0, 60)

\

(o= (o -2 480
=-5

o=

(6.0)

U4

Jan 22-09:46

8. State the domain and range of each function.

a) flx) =2(x—1)*+3

b) f(x) = V2x +
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12. In each graph, a parent function has undergone a m | Q/ f\)ﬁt = Q KE&\)

transformation of the form f{£x). Determine the

equations of the transformed functions graphed m% S @ﬁ(\f\@ = P U KE K E
red. Explain your reasoning. H S ZW\,YLM (Q
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13. For each set of functions, transform the graph of R .
f(x) to sketch g (x) and /4 (x), and state the domain %\ ‘ ‘ d O J\_S\ D — KQRE

and range of cach function.

0 =g = (3) 050 = —0F B ) = ) = 1l ) =
g~ gbC j/Qj R=%ver|y /of
R=39<crl (yzol R={veRr[yy=0o3
R= {9erlysc) R {9eR] Y 20S

/

_X

@ 5 10 @ dn(2)
@ (%.\')2 \ b abs(—4x)
Efcj 7[2\')? ’ @ ab (% ] °

Jan 22-09:46



2.98 Review.notebook March 09, 2018

14. 'Three transformations are applied to y = x% a
vertical stretch by the factor 2, a translation 3 units
right, and a translation 4 units down.

a) Is the order of the transformations important?

b) Is there any other sequence of these
transformations that could produce the same
resule?

) Yes Sretch befors g 1oV
b) Trans faons con B2 FQf{OFMQ@Q -
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15. The point (1, 4) is on the graph of y = f(x).
Determine the coordinates of the image of this point

on the graph of y = 3f[—4(x + 1)] — 2.

f=3 k=-4 =" c=-2
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16. a) Explam what you would need to do to the graph

2@*

of}r f(x) to graph the funcﬂm ]
b) Graph the ﬁ.mctlc:-n in part (a for f (x) =
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17. In cach case, write the equation for the transformed

function, sketch its graph, and state its domain and
ral

) Th g aph of f(x) = \f is compressed
horizontally by the factor 3, reflected in the y-axis,
dt ansl ted 3 units r gh[ and 2 units dows

factor 3, reflected in the x-axi
n. 4 units left and 1 unit up.
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